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Each questions is 5 points. SHOW ALL WORK to receive full credit. Simplify all answers:
reduce all fractions and convert improper fractions to mixed numbers. Include any units.

The actual test will be on Wednesday 10/1/14
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13. Find the average of the set {5, 81
3 , 2

2
3 ,

1
5}. 14. A rectangular room is 142

3 feet long
by 81

4 feet wide. If carpet costs $4 per square foot,
how much will it cost to carpet the room?

15. A rectangular field is 153
8 yards by 121

8 yards. 16. Put the fractions in increasing order:
Fencing costs $6 per yard. How much would it cost

to enclose the field in a fence?
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17. Find the area of a right triangle with legs 18.
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19. Find the hypotenuse of a right triangle with 20. Find the area of the shape below.
legs 7cm and 4cm. Assume all angles are right angles and measurements

are in feet.
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Solution. There are some missing side lengths (for example, the vertical side on the upper right), but
the area can be determined without them, using subtraction. We can visualize the polygon as a large
rectangle of length 6 ft. and width 5 ft, out of which a rectangular “bite,” of length 3 ft and width 2
ft, has been taken.
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The area of the large rectangle (bite included) is 6 ·5 = 30 ft2, and the area of the bite alone is 3 ·2 = 6
ft2. Thus the area of the original polygon is

30 − 6 = 24 ft2.

To find the perimeter, we need the missing side lengths. For the vertical side on the upper right, we
reason as follows. The left edge is 6 ft, and so the total length of all the right vertical edges must also
be 6 ft. The two known vertical edges on the right have lengths 1 and 3, and the unkown edge must
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End of Test 1


